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Adigao até 1000 (horizontal)

624 + 888 =

258 + 515 =

513+945 =

633 +492 =

125+ 987 =

477 + 948 =

203 +214 =

184 + 48 =

563 + 468 =

523+ 514 =

Encontro: Data: Pontuagao:

407 + 567 =

337 +425 =

528 + 652 =

734 + 509 =

308 + 536 =

538 + 1000 =

964 + 872 =

40 + 778 =

943 + 57 =

313 +206 =
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%J @E ﬁ Adigao até 1000 (horizontal)
Nome: Encontro: Data: Pontuagio:
624 + 888 = 1512 407 + 567 = 974

258 +515="773 337 +425 =762

513 +945 = 1458 528 + 652 = 1180

633 +492 = 1125 734+ 509 = 1243

125 +987 = 1112 308 + 536 = 844

477 + 948 = 1425 538 + 1000 = 1538

203 +214 =417 964 + 872 = 1836

184 + 48 = 232 40 + 778 = 818

563 +468 = 1031 943 + 57 = 1000

523 + 514 = 1037 313 +206 =519
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